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MBE=TH W L ADE 2.950 2.311 2.573 4,884
BIE—_TH |E & F & 1,951 1,858 2,133 3,991
(KEF—TH |AHa- AHm 2,262 1,801 1,837 3,638
KEF_TH |AHa- AR 2,455 2,073 1,885 3,058
AHFF=TH |KHR Ahm 2175 1,774 1575 3,349
[ KEEABT— T B | A7508 - AFTIF 2,555 2,297 2,385 4,682
KHFE—T B |AGE W A 1518 1,557 1,402 2,959
KEE_TH |AHa-f & 2,369 2,350 2,186 4,536
EHE—TH |5 &-F ® 2,704 2,026 2461 4487
= fr EEHT - A DGR - = 7 3,196 2,711 3,020 5,731
FE—TE DA ADIR K 1,905 1,503 1,641 3,144
FE-TH BOA X O 2,324 1,815 1,938 3,753
FE=TH FEOA-ZX O 1,861 1,623 1,756 3,379
Bt E—TH [AHE-FT & 2,089 2115 2,159 4274
M E—_TH |ADR-= B 2,902 2,609 2,706 5315
REARATH [AHER-T & 1,827 1,891 1,934 3,825
EFER—1TH | A F & 1,479 1,269 1,532 2,801
MTFR_J1H [ &F & 869 901 998 1,899
MTER=TH | & F X 1,615 1,465 1,525 2,990
FEANT H B SA-ah F 2,525 2,352 2,324 4,676
BEEA_T1H |& 0= & 1,491 1,169 1,397 2,566
BEEANTH [ B2 & 965 914 1,021 1,935

EXRTH |[ANER-F & 1,035 1,111 1,241 2,352
EAKIKHET HERG = & 1471 1,216 1,433 2,649
A —TH [#fiit & @HEK 2935 2500 2488 4,988
FEA_—TH |/ H-5HE 2,908 2261 2240 4501




